1st August 2021 MMKMC Summer Slalom Auto » Detailed Live Event
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(43.1)  (61.0+1C)
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(37.3) (56.5)
=37.1 =56.5
(37.5) (61.5)
(38.1) (55.5)
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(38.0) (54.8)
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(42.7+1C)  (62.5)
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(77.5) (80.7) (87.6) (80.5) (88.5) (74.2)

=775 =805 =742
(65.1:WT)  (84.3:WT)
(9(327")’119%)7 (97.0:MAX) (109.1-MAX)
1) =07 T lgse =91.1
(740) = (67.3:WT) (63.1) (NR)
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(40.5)
(41.0)
=40.5

(40.6)
(40.5+2C)
=40.6

(48.4)
(39.1)
=39.1

(40.6)
(39.9)
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(39.5)
(40.9)
=39.5

(39.7)
(38.6+1C)
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(38.3)
=38.3

(38.3:WT)
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=38.3
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(50.3)
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(36.7)
(33.5)
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(35.3)
(34.5)
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(39.7)
(40.3)
=39.7

(45.4)
(46.8)
=454

(49.8+1C)

(48.1)
=48.1

(NR) (NR)
=75.4

(78.7) (76.9)  (102.7)
=76.9  (90.7) =90.7
(NR) (NR)  (NR) (NR)
=08.8 =103.5
(NR) (NR)  (NR) (NR)
=08.8 =103.5
(82.0)  (110.7+1C)
(83.6+1C)  (83.2+1C)
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(95.9:WT)
! (95.5+1L)
(189.8:WT) *
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(66.3) (78.9) (96.3+1C)
=66.3  (86.9) =86.9
(64.9:WT) (88.5) (85.5)
(78.7) =78.7 =855

(65.5) (82.4) (92.3) (83.2)
=65.5 =83.2

(79.7) (78.9) (88.3) (84.5)
=78.9 =84.5

(76.3) (77.3) (108.6:WT)
=76.3  (89.4) =89.4

(81.7) (78.0) (97.1) (88.7)
=78.0 =88.7

(80.5) (83.0) (97.4) (92.0)
=80.5 =92.0

(96.2:MAX) (103.7+1C)
(79.0) =79.0 (98.2) =98.2

(105.7:MAX) (118.3:MAX)

(92.3+1C)  (103.4)
=95.5 =103.4
. (89.6)
(70.0:WT)
M (103.6)
(90.4) =90.4 ‘1 oo2
(79.2) (77.3) (94.2) (83.1)
=77.3 =83.1
(80.2+1C)  (103.3)

(77.3) =77.3 (81.3) =81.3

(85.2) (81.4) (99.5) (99.6)
=81.4 =99.5

(95.0) (89.0)
=89.0

(106.5)
(87.4) =87.4

(85.1+1C)  (105.7+2C)
(84.9) =84.9 (96.5) =96.5

NR)

(NR) (
14.9 =117.4

=1
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